
SAP ABAP table CKBS {Base Planning Object - Unit Costing}

CKBS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

EXTNR [CHAR (18)]

BUKRS [CHAR (4)]

WERKS [CHAR (4)]

BTGRP [CHAR (4)]

HWAER [CUKY (5)]

MEEHT [UNIT (3)]

LAND1 [CHAR (3)]

REGIO [CHAR (3)]

INLND [CHAR (3)]

KLVAR [CHAR (4)]

T000

MANDT [CLNT (3)]

 CKBS-MANDT = T000-MANDT 
0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 CKBS-BUKRS = T001-BUKRS 
0..N

{0,1}

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 CKBS-WERKS = T001W-WERKS 
0..N

{0,1}

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 CKBS-INLND = T005-LAND1 
0..N

{0,1}
 CKBS-LAND1 = T005-LAND1 0..N

{0,1}

T005S

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

BLAND [CHAR (3)]

 CKBS-REGIO = T005S-BLAND 
0..N{0,1}

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 CKBS-MEEHT = T006-MSEHI 

0..N

{0,1}

TCK03

MANDT [CLNT (3)]

KLVAR [CHAR (4)]

 CKBS-KLVAR = TCK03-KLVAR 

0..N

1

TCK40

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

BTGRP [CHAR (4)]

 CKBS-BTGRP = TCK40-BTGRP 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 CKBS-HWAER = TCURC-WAERS 

0..N

{0,1}

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 CKBS-KOKRS = TKA01-KOKRS 

0..N

1


